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A4 SETHS D} 24,104,388 20,940,352 3,164,036
= 282,495
Jl 18,510
= 6,363
Al 23,797,020
HIIE X2l 2el 23,335,923 20,280,215 3,055,708
= 282,495
J| 18,510
& 6,363
Al 23,028,555
MEMY D HE 2t 22,620,343 19,699,216 2,921,127
= 260,300
J| 18,510
o= 1,029
Al 22,340,504
DIZIQEIANS (MEH DS ST 28H) 20,251,889 17,989,917 2,261,972
201 et 9| 157,640 133,440 24,200
01 AR 22l ] 49,240 34,240 15,000
O1 Bt==H| 47,000
MY IIZE00 & 22E EE
30,000,000 = 14! 30,000
DHISAHEM AEH MEB(222 MY
) 15,000, 000°J*1N 15,000
>SASRHIIE ASHE BE44E
2,000,000 =14l 2,000
O3 24 2,240
DEAANSSE R AR HALY
70,000 801 x4 3] 2,240
02 2324 108,400 99,200 9,200
O1 222 2 HA 12,400
PLONE HANB(NSUEER S Z2Q
=) 2,200,000 =4CH 8,800
Dot BAX(SAWAHAESZ2 £ 2222
) 1,200,000 =2CH 2,400
MY CIRMHe M2 Mo JEAMES
100,000& 12& 1,200
O4 xHaFdey| 96,000
PDLHAZE HAXNS(SFUH, HHIKXHl)
20,000, 000 =4CH 80,000
Dbt HAXS(SFUH, HIKXH])
8,000,000 =2CH 16,000
207 I | 20,000 20,000 0
01 g E Y| 20,000 20,000 0
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15,000,000 =1 Al 15,000




2N
X ZH -
L= B

el

A= TR 0t

Holg w2l 22
MEMYO| ML
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OSAEE HII2 YMAH SUEBI Y
5,000,000& x 14 5,000
307 212t01 & 20,074,249 17,836,477 2,237,772
05 A2t E =2 20,074,249 17,836,477 2,237,772
Olftzsdasr 849 5,851,000, 000& 14! 5,851,000
OUgHI= Helid 89
1,034,637,000& =14 1,034,637
OSAEE HII=2 HelUd 249
1,804,478,000& =14] 1,804,478
OMEEIts HIIZ2 Held 249
231,000,000 * 14! 231,000
O=g .- 28 249 11,153,134
DUEHINZE 728,974,000 x 14 728,974
>AMEHI 2 3,390,000, 0003 =14 3,390,000
DMEE Jls HII=S 3,390,240,000& *=14] 3,390,240
DAEIZE S HIIS 525,525,000 * 14 525,525
>RCeX] Hol2 45,000,000& * 14 45,000
DSAEF HIIS(LEHTE)
2,230,445,000& *14] 2,230,445
DSAEF HIIS(BSFTH)
786,950,000& * 14 786,950
D>MENH RNEOIS 56,000,000 *14] 56,000
SEH #EEE & L 22 912,292 685,948 226,344
201 Yur2 Y| 208,842 177,398 31,444
01 AFR2t2l bl 203,922 172,478 31,444
O1 etx=2H| 203,922
DMED BEH AASE S TIUY 44
= 533,000,000 *3.157/100%12& 201,922
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80& *25,0000H 2,000
02 352494l 4,920 4,920 0
O3 A& &HI S X bl 4,920
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1,230,000& x4 3] 4,920
206 M =8l 703,450 496,550 206,900
01 &2 bl 703,450 496,550 206,900
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O4 1=l 750
DEEZRN ZYS 150, 000& *52! 750
O g4tz 1,500
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500,000& *33| 1,500
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DMYI RPEUE)] HENSRAU(RS
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25,000,000& = 14! 25,000
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679, 134,000& » 1Al 679,134
401 Al HI L E0HHI 100,000 60,000 40,000
01 Al&H| 100,000 60,000 40,000
OMY D RPEHED| MASKE AQE ZIH(CCT
V) & 5,000,000& =20CH 100,000
MADZAIHNE &9 1,560 1,560 0
301 2Bt A= 1,560 1,560 0
12 JIEtE2 A= 1,560 1,560 0
OMY Dl BHED AlDEAZ 100,000 «12& 1,200
O13| 28 ME2YH ADEAZ 30,000 «12€ 360
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= 260,300
Al 260,300
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< 1,029
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206 M= Hl 33,900 0 33,900
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Olls< s+ ¢ 1,700,000& *17H £ 28,900
OHS%E 3l ¢ 200,000 #2504 2 5,000
401 Al HIZ 2018 15,000 0 15,000
01 A& HI 15,000 0 15,000
ORWHIIZS LA B2 &X
15,000, 000& 14! 15,000
HIISMelAlE &X & 2EAY 90,800 6,800 84,000
SASHIAE QA E (HE )AL 6,800 6,800 0
201 ¢er24| 6,800 6,800 0
02 =224l 6,800 6,800 0
O1 3323 ¥ HMA 1,800
PREMIIS FOAL VAN BB (XD,
*=5) 150,000& =123 1,800
O3 A& & HI s Xt 5,000
PREADS FoIALBRIM AS L FHIR
X Hl 5,000,000& =14 5,000
HOI2XM2AlE XA 84,000 0 84,000
301 et A3z 24,000 0 24,000
06 212t01 = 2| 0 Hi 24,000 0 24,000
OHIIZE XM2AE A 2,000,000& x12¢!I 24,000
401 A& HIZ 201 I 60,000 0 60,000
01 A& Bl 60,000 0 60,000
OMEHIIS MelAE(HE) Bt XA & |
=H= =8 Y 60,000,000& =14 60,000
Hes8 S&AY 297,106 248,894 48,212
= 22,195
< 5,334
Al 269,577
He&g8lis HII2 2el=HE E2 29,200 28,900 300
206 M= Hl 29,200 28,900 300
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OMegE 2el=AHU(53) 210,000& 20K 4,200
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HeE SXE ?e 88 41,431 43,667 A2,236
201 £B-2d| 3,416 6,772 A 3,356
02 =24l 3,416 6,772 A 3,356
O4 Xtgd el 3,416
DR (24 E) 3,416,000 = 1CH 3,416
202 44l 6,400 5,280 1,120
01 = LHA Yl 6,400 5,280 1,120
OMEEIIsHII=Z 22lE =&
6,400,000& » 14! 6,400
307 21201 A 31,615 31,615 0
02 UAFAAFEX 8,000 8,000 0
O FAE sMEH 24 8,000,000& =14l 8,000
05 RIZHRIEt 3 23,615 23,615 0
OHEZE ¥ HAXX L8 Y
23,615,000 =14l 23,615
SOt - e HEaEdH 29 N& 2,500 2,500 0
301 gt L= 2,500 2,500 0
12 JIEBHE4 = 2,500 2,500 0
ONASESE S0I7 -0 24 Td B4a3(
FSILEE MEESHH) 2,500,000 » 14! 2,500
SEMHHE =214l X& 14,575 14,827 N 252
= 14,575
301 et A Z 14,575 14,827 A 252
= 14,575
12 J|EtE &= 14,575 14,827 A 252
OZsHbE =H B4=3 14,575,000& 14 14,575
= 14,575
HES8lisHIlE =8&%d=2 A& 164,000 144,000 20,000
301 gEtE L= 164,000 144,000 20,000
12 JIEBHE4 3 164,000 144,000 20,000
OZsHIIE =H ZaA3 164,000,000 14 164,000
==s&otE == A& 25,400 15,000 10,400
= 7,620
< 5,334
Al 12,446
402 RIZ2EX20l A 25,400 15,000 10,400
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12,446
02 U EALEZ(0IETHR) 25,400 15,000 10,400
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= 7,620
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Al 12,446
d=HIl2 ot E= 20,000 20,000
401 AIEHI L 201 20,000 20,000
01 A& HI 20,000 20,000
Od=sHIlE Zotd 2= 4,000,000 «5IH £ 20,000
SAESHIIE s SH(ZS3S) 0 327,674 325, 2,369
SSTH SASFHIIS M A 327,674 325, 2,369
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02 =24l 324,650 321, 3,369
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DRFID HEEH S423
3,900& 1, 1250 x12& 52,650
O3 A€ &Hl |t 272,000
DREIDIIEE SEMN SSF=8 SASMY I &
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WEHAX S (MHEX 1) 625,380 526, 99,050
HWEAHHX S (S EFH JS8XA =) 625,380 526, 99,050
702 JISEES 625,380 526, 99,050
0MNII3HEEZ 625,380 526, 99,050
OB E =HISXR JI2ZE(HEH)
61,040& x70,000& 10/ 100 427,280
ONgE F=HIASXR JIsEH(HHEH)
99,050& *20,000&= 10/ 100 198,100
HE2H A (ME TR D) 143,085 133, 9,278
ol 2d | 76,289 68, 8,202
ol (ME XA D) 76,289 68, 8,202
101 @124l 76,289 68, 8,202
01 2= 71,064 63, 8,045
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